BMAMEFELGBOEFHERS

HKSC RESULT

A FEri24FE58278 (B) 215 /WA ILRE RIS Xz En

BAEH
F£| iH K£ T2 |IE| R |E|EE]| [£]| #EH K£ & |IE] R |IE]| 5=
41100m |8A #HE 18722] 4 4]1100m |AE F= 17708] 4
41100m [FER & 18779] 5
418 00m |# ERT 304784 9
4]1800m [NHE #ifE 3 07752[ 10
41800m |EER ZEE 3°09782| 11
4lsooml|E KiE 311704 12
41800m [#2A A 3 20786] 14
4 [Emgpk  kE HEX 3m26] 4
4 [EmR [JIE —% 3m07[ 7
4 [EmEk  kE BIA 2m84| 8
F£| FEH K& F=E |IE] kB |B[E=]| [F£] EH K& FE B 2B B EE
bl1oom|[NA FEA 15745] 3 14786] 4 [g82#%| [5[1 00m [NIliF =K 15769] 2 15768] 2
51100m [MAHF ZEAER | 16741] 1 b[1o00m ILA HE 16735[ 1 16°26] 5
S5l1o0m |[&T ®E 16753 5 b[1o0om[/MNBE HBE 16°63] 2 16°72] 8
bl[1o00m |BEB KX¥ 16771] 2 bl1o0m |BJIIl HiME DNS
b[1oom [JktA EBX 17714] 3 b[s8oom|EE RS 307732[ 5
5]1oom[# EA DNS b5 [FEMERK  |[{EEE T 3m29| 2 [s=5+
5/soo0m |HR &N 2'50"84| 4 |ac#m| [ b |EEEE [fER EIR 3m28] 3 [EE#
b|800m [EEXR &KHE 254721] b [aewm| [ b |EmEwk [Eix < 3m22| 4 [ec%
5/800m|ETF uﬁﬂ’r\ 303766/ 8 A EEET 3m10[ 5
5|800m|[5iE EKXER 3 13733] 13 [aeH
b |EIERK [EEFE ’é‘.’*ﬁ KK EE
5 |EmREE [kO EXE 3m10] 6
F£| EH K& ¥ |IE] R B[ E=]| |[F£] #EH K& & |IE] RE |IE]| 5E
6[1o0m[/hNE FIX 13752[ 1 13733] 1 6l|[10o0Om|XE & 15770] 3 15784] 3 |BE%
6]100m [BXk 1EE 13772 2 13773] 2 6[100m [k & 15777 4 15°92] 4
6]1o0m [HE %A 14793[ 1 14786] 3 6 |[100m XM F#: 16745] 5 16°40] 6
6[100m |EEX # 15745] 2 157311 5 |&a2#H]| | 6 [800m |Fik FZE 2’ 55746] 1
6[100m [FIfR 1B= 15°81] 3 15740] 6 [22%| [6 [800m [lLFE == 2°56717] 2 |BE%
6][100m|[FE EBX 16730] 4 16°16] 7 6 [800m[iIxH IBFE 2'56778] 3 |BE%
6 [100m aEE HfF 18792[ 5 6 [800m|llix EE 3 03752] 4
6]10o0m|[EE 3B DNS 6|800m|EH & 3712789] 6
6 |800m Bl HmE 2 44793] 2 AR S S 4m70| 1 [Z=0
6 |[EEB (At #HE 1m20| 1 [s254
6 [ZEREBE [ERII am07] 1 [82%#%
6 |EEE [FEH EE 3m77| 2
6 |FEiEd [HAf  FKXEL 3m49] 3
Iy L—
T F—L% T Eﬁ%ﬁﬁ FE |IE|] xiE |IB| & |£(F—L%A K & |IE] R [IE|EE

A —
4 KE X ” ToAN
4 4 A KEF HEX 65703 | 4 B et
4 W BN
: EEET

H g ”
7 4B N 71732 | 6
4 A E
E|F—LE K& & |IE|] R |IB| @& |£|[F—L%A K% & |IE|] R [IE|EZE
: . | I3 o

SR KER ” —4LR JINT: 3% ”

5] °A (K _Ea& 62768 | 3 121 | [5] °A Bz =% 65725 | 3
5 ZT_ B 5 | A2
.

O "
3 5B = A 65764 | 5
5 ItH #EX
E|F—LE K& & |IE|] R |IBE| @& |£|[F—L%A K & |IE| R [IE|EZE
=" .,

NIk L ” s At &S ”
5 A e S 57782 | 1 |K&#H 5 A 3 =5 | 59743 | 1
6 IR 6 FR 5=
: S : N =

N ” it ”
3 B ao HE 61737 | 2 5 B R 52 64702 | 2
6 EEEESS 6 XA tiE




